TCK11907041301.pdf (0 - 14 m) 11000

guoooogod

Doogdoo 0 0 0NO.
JooooO | B-2(No.6 L-10.5) ‘ oood ‘ O 0 |36° 58 52.0000”
0OO0OO0OaG0o oo0oooooooono 0000 |2008-02-04 0 2008-02-13 O 0 | 140° 08 42.0000"
O m} O O gooo
poooo DDDD‘ 000 ‘DDD‘ 0DO00o
1800 0o
O O oooo
0O 00 0 |27588m Oooao
0o so| P ferog oon| O |p 00 o1 O oooo
o 0 ol o |o O
Ooo0ooao 13.45m 0 0 0 0 gooo Oooao
0¥ 0.00° 1800 O 900" 35.00°
0|0|0|0 ] O 0 |o|o O ojo oooooooboooo goood oooo (o | o
g|o
0|0 |0 wemooo)|B olo o o (0o|0jo
O oo Oo|g
olololol o o|o oooo  |U goooo
O o|o A ; : 1717 oo
O
- 0|10(20| _ alo
] ] O |o|o O d 1 |o OO
u] o N U o|o
O 10(20|30| O °
(m) | (m)|(m)|(m) o |m) cm)| o 10 20 30 20 50 (m) (m)
275.560.30 [0.30 -{JS* 0o noooopono 1
P ) @200 150mmO 00000000 B
oooo 0D00o000000o0ooooon ]
oo o 1
1 (0 a g |r1s0180mOODODOOOn E
o 0 o |poooooo fLis | 8 _ E
= o 3|2 |3 [7sf 8 1
F [-45 7
b [eraesli70 ]2.00 1
AAAAA FEEE] 2.000330m000000000 p.15 | 8 k
IAAAA (e RS 0D0000D000000000n o s ] s3] 8 ]
- V) pooooo a5 E
~~ a] 0 [3300390mO0DO0OO0D0D ]
A i} 0 ooooooo ]
3 = e S 01 1 3 E
NN 17| 13 30 2 02/07 ]
F IAAAA 45 7]
271.96[1.90 |3.90 :";";" 1
a4 oo 3.9004.45m 000000000 B
(2,22 m H O 5 b.as s ]
271.430.55 [4.45 | & & 4] O 1|11 [Ts0f 3 ]
o AAAAA NER] [ [44s05emOCoOOOCO0O [ E
S |ooo o oDoooDo0000Do0O0oon 1
- v o O |ooooooo E
AAAAA H o 5:15m 00000000010cm0 B15 |, ) E
E == a o 700 i it I e E
o~ o o 550 1
260.08]1.45 [5.90 |IAAAA 1
6 0000 5.9006.95mU00000000 15 -
oo U |oooopoooooooooo i 2 1
(©) o 0 |oopooooooo 20] 1 30| 2 1
F B = 02/04 f-45 7
6.90 ]
68.93(1.05 [6.95 N
7 RAAAA NI 6.950880m 000000000 = s 1 -
|ooo DOooo0o00000o0ooon =1, 1
P v 8.600870mO0DO00 3 (415130 E
IAAAA 88omOO000C0000C0C000O 45 1
B O 0 [00003mO000 ]
I8 AAAA 15 . =
AAAAA T 1
RAAAA 3|22 [7sf 7 1
- [~~~ 45 -
267.08/1.85 [8.80 [~ 1
o 0000 |o 8.8009.50m000000000 E
oo oo U 000000000006 2emD 15 7 1
©) ] 0 lopooooooooo ol o] a3l 7 ]
F 266.38/0.70 |9.50 = E
0000 9,50013.00m 000000000 - 1
gooo 0ogoooooooo ]
10 oo Elafsparala]fayaa)alafaala] bo s =
C-G) ooooooooooog == 32 1
00 0 1001 50mm0) 110 ]7s0] *# E
o © max100mm [r0-25[ 7
D00o000oOoooooon ]
0ooooooo ]
1L 00 0 5000 60%0] 115 6 =
E 0 | 16 1
O a - 3 5 8 30 02/08
o PO o = [r1.45] -
= il = 1
12 [12.15 19 3
19 1
6 | 6| 7 [30] ]
F [12.25] E
13 [13.15 7:
262.4313.95 |13 T 5 |14 |11 % 30 02100 ]
o N [3.45] =




